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LAW - 1I
fafer-11

1.

Which one of the following Article in the
Constitution of India deals with regard
to Qualifications for election as President ?

(A) Art. 52
(B) Art. 54
(C) Art. 56

(D) Art. 58

Which one of the following statements is

not correct ?

(A) First proclamation of Emergency
was declared in the year 1962.

(B) The Second proclamation of
Emergency was declared in the year
1971.

(C) The
Emergency was declared in the year
1975.

Third proclamation of

(D) The First and Second proclamations
of Emergencies were revoked in
1976.

Tt 3 T 3 A ¥ e
Hyur & aftfy s=e fret § S-W1 82
(A) STT 52
(B) STTT 54
(C) =T 56
(D) 37T 58

At -3 Ho TE T €2
(A) STIITHIA T T S T oY 1962
T ol AT et )

(B)  STUqEhIE ki ORI &I Sh9om o 1971
T 1 A ot

(C) 3TUTqehISl i T S EWon a9 1975
T =t T ot

(D) SISl Y TEe SR qERt somd
= 1976 # feea =t el ot
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Which of the following is/are among the
Fundamental duties of citizens laid down
in the Constitution of India ?

(@) To protect the weaker sections of
the society from social injustice and
promote them.

(b) To value and preserve the rich
heritage of our composite culture.

(c) To uphold and protect the
sovereignty, unity and integrity of
India.

(d) To safeguard public property and

to adjure violence.

Select the correct answer ﬁsing the codes
given below.

(A) (@), (b), (c) and (d)

(B) (b), (c) and (d)

(©) (), (b)and (c)

(D) (@) (c) and (d)

gd % Gfaum o etfuesfag, v @ @
HA-TT/H AR & T o /8?2

(a) EHITSR ST | HHIS 3 AR a7l
T L& AT AT ST STl <7 |

(b) TR firch-eh went i wgs
T HE HET a1 TG |

() WA YR, ThA T SREEl H
Y TEAT T &7 HEAT |

(d) e T ot & S aun e
Q&

11 %2 % ST § | W gy

(A)  (a), (b), (c) 3R (d)
(B) (b), (c) ¥ (d)
(©) (a), (b) ¥R (c)

(D) (@), () I (d)
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The objectives of Directive Principles of
State Policy is :

(a) To establish Welfare state.

(b) To laydown that our ideal is
Economic democracy.

(c) To establish a Religious state.
(d) To ensure Socio - economic Justice,

Select the correct answer from the codes
given below.

(A) (a), (b) and (d)
(B) (a), (b) and ()
©)  ®), () and (d)
(D) (@), (c) and (d)

Assertion (A) : The President of India is
the Constitutional Head of the State.

Reason (R) : All powers are vested in
the council of Ministers headed by the
Prime Minister.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

T & Hifq fewes fagia % e 8

(a) THTATIRI T i TATTAT HEA |

(b) AN 3Nt Tk Ttk & i Hifd
AT

(c) nfHer TS =t TGN HEAT
(d) SSTER- 3T = 1 gffved s |
=1 %2 & STE @ '@ W g

(A) (@), () 3R (d)
B) (@), ®) 3 ()
© () (© R ()
(D) (@), (©) M (d)

AMIRYT (A) : WNA & Tgyfd, Gaus
®9 9 <91 1 gigan g g

WHIOT (R) : JU Hsit & =g o Wit it
Tt afteg % o ST

E TR

(A) (A) a9 (R) S T § a1 (R), (A) T
T =T |

(B) (A) am (R) T Wed ¥ 791 (R), (A) T
e =T T j

(C) (A) ¥ T, T (R) 39 B

(D) (A) 39 B, W (R) &4 B
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Ownership of copyright, goodwill,
trademark etc., are example of :

(A) Corporeal Ownership
(B) Incorporeal Ownership
(C) Vested Ownership

(D) Contingent Ownership

What is natural law ?

(A) State Law

(B) A philosophy that developed from
religious ideas

(C) Law that is derived from higher,
aspirational principles and value

(D) Preremptory norms

Which of the following are the
advantages of fixed principles of law ?

(a). It provides wuniformity and
certainity to the administration of
justice.

(b) It avoids the dangers of arbitrary,
biased and dishonest decisions.

(c) Itis formalism.

Which of the following proposition is

correct ?

(A) (a) is correct and (c) and (d) are
incorrect.

(B) (a) and (b) are correct and (c) is
incorrect.

(C) (a) and (c) are correct and (b) is
incorrect.

(D) (a), (b) and (c) are correct.

FHIIREE o1 w@fd, @nfd 6 SAaur fag
T et SR § 2

(A) T wEfE

(B) oI A

(C) THfea st

(D) EHIH TetAe

e S 18?2

(A) T3 fafy

(B) T ¥ forwent =ycafa enfifen formd
JgT T

(C) TH A Soet Iafa 3=, seniaft
fagidl qen qeal A gen ¥

(D) i g T

frefafeas & wm-9 fafy & fuifa fasia

& A E?

(2) % RIEA H Uk a1 s T
Y& A B

(b) T TEIW U, WAl TH HIY
frrofer § s

() % TEUAIE Bl ¢ |
= ¥ 9 FF-91 g&=eT Wl g ?

(A) (a) W& 7 IR (c) T2 (d) T4 B |
(B) (a) 3R (b) W& T A (c) 7T B 1
(C) (a) 3R (c) W&l & qe (b) T T

(D) (a), (b) 3R (c) & €
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10.

Find out the incorrect statement given

below :

(a) Legal ownership is that which has
its origin in the rule of Common
Law whereas equitable ownership
proceeds from the rule of equity.

(b) In many cases, equity recognizes
ownership whereas law does not
recognise ownership owing to some
legal flaws and defects.

(c) Equitable
pre-supposes the existence of legal

ownership always

ownership and vice versa.

Code :

(A) (a) is correct and (b) and (c) are
incorrect.

(B) (a) and (c) are correct and (b) is

incorrect.

(C) (b) and (c) are correct and (a) is

incorrect.
(D) (a) and (b) are correct and (c) is
incorrect.

Assertion (A) : Preventive punishment
aims to enable a wrongdoer to repeat the
crime.

Reason (R) : Repeating a crime does not

always happen.

Code :

(A) (A) is wrong, but (R) is right.
(B) (R) is wrong, but (A) is right.
(C) Both (R) and (A) are wrong.
(D) Both (A) and (R) are right.

10.

=1 9 9 T YA I FiST ¢

@) Afys wfaa oz ¢ fowst safa
o fafy 9§ St § et sl
@iy, sfeeel fom & 3MuR W
FA T

(b) e TN W 3R, Tt A
M & wafw fafy, afus @il @
28T ot TS W T TS S R |

(c) sfmee wthe ghem fafus wnfae
¥ SAfEdea I a1 ik 3T I I off
AT ST | |

(A) (a) & § 2T (b) ToN () TTeTd B |
(B) (a) 3R (c) W & a2 (b) 7TeTd B |
(C) (b) 3R (c) T ¥ T (a) TeTa B

(D) (a) 3R (b) W& & A (c) Tord B |

IR (A) : fraTeoTeT g W T A
T Tl B YA STIIY FHA I STEER <1

HIUT (R) : THN, STOY Hl RGN Tl
Bk

%<

(A) (A) e &, T (R) TR

(B) (R) 7w T, T (A) WEl B

(C) (R) T (A) Sl e 2 |

(D) (A) 7= (R) S wEl 2
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11.

12.

The Declaratory theory of Recognition is
associated with the following statements.
Identify the correct answer using the
codes given below.

(a) Recognition is a key to membership
of the International Community.

(b) Recognition of a state is always a
Political Act.

(0 Recognitidn is declaratory of

Existing Facts.

(d) Recognition is constitutive of
Existing Facts.

Code :
(A) (a) and (b)
(B) (b) and (c)

© (b)and @

(D) (b), (c) and (d)

Assertion (A) : International law consists
for the most part of customary rules.

Reason (R) : Customary rules are not the
original and the oldest source of
International law.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

11.

12.

mmﬁmmﬁﬂ‘m@m
gl ﬁw%%waaﬁwgﬁql

(a) W=, SR TEwId U | )

(b) T Y AT SHR TSI i el
gl

(c) I, SRH e Y Sron A

(d) T, ST e w5 e o

(A) (a) 3T (b)
(B) (b) I ()
© () ()
(D) (b), () 3R ()

Al (A) : Siat fafedl & waifus
ol o TG T 1 GHeY B ¥ |
HA (R) : ®Ga Frem, siqdiga fafert
& YT € o 9 g =@ 9

%<
(A) (A) T (R) 31T T 3R (R), (A) T
TE e B

(B) (A) 7% (R) I ¥ ¥ W (R), (A)
e e T e

(C) (A) ¥ B, T (R) 375 B
(D) (A) 79 B, T (R) FF B
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13. The term of the Judges of International 13.

" Court of Justice is :
(A) Nine years
(B) Eight years
71 (C) Seven years
(D) Six years

14. The Alabama claims Arbitration case was 14.

decided in the year mentioned below :
(A) 1852
(B) 1862
©) 1872
(D) 1882

15. Permanent Court of International Justice 15.

was established under the following :
(A) United Nations Organisation
(B) European Union

(C) League of Nations

(D) United Nations International
Organisation

16. . Khyal-ul-bulug is : 16.

(A) a form of valid marriage
(B) option of pﬁbérty

(C) type of dower

(D) kind of iddat

ST =T % STSil 31 Tl BIdl © :

(A) e
(B) T3 Y
(C) waay
(D) B:a9

ST 1 T & fF e Fa g Ay §
froffa gotm o

(A) 1852
(B) 1862
(C) 1872
(D) 1882

fr & frge 1 STRisga Tl <
! TITYAT SRt TRAT 2

(A) TIH T FIST

(B) IUH §=

(© T ST I,

(D) TIH T AL F1ST

-3 €

(A) éaﬁamw»@m
(B) ' TEUTEE W Teh faehed
(C) T&L o T TR

(D) T HI TH TR

SPACE FOR ROUGH WORK / T% &md &% fad s
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17.

18.

A ‘muta’ marriage is :
(a) a temporary marriage
(b) recognized under Shia law

(c) amarriage for a fixed period of any

duration
(d) recognized under Sunni law
Code :
(A) (), () and (d) only
(B) (¢), (d) and (a) only

) (
(O (©) (d), (a) and (b)
) (

(D) (2), (c) and (b) only

Read the following statements and find
which is (are) true under the Hindu
Marriage Act, 1955 ?

(a) The Act is not applicable on Sikhs.

(b) Free consent is not an essential
condition for marriage under
Section 5.

(c) Saptapadiis seven rounds jointly by
bride and bridegroom around the
holy fire.

(d) Sec. 8 deals with registration of
marriage.

Code :

(A) (a) and ()
(B) (c) and (d)
(€) (b)and (d)
(D) (a) and (d)

17.

18.

“5?[['1%!311'5'%:

(a) TR faame

(b) T wrE ¥ T g e

(c) Tt off fruifta wra & forw w foamm

(d) G-t wrE § T wra foare

(A) I (a), (c) ¥R (d)
(B) FaA (c), (d) 3R (a)
(©), (d), (a) 3R (b)
*I (a), () 3R (b)

1= el 1 ufen 9o @ T & feg
faame sifufam-1955 & q8d HiF-HH 9 HeF
&2

(a) Toeal W =% from ar) 7 )

(b) =W 5% e foar w1 wenfa Tk
STEYIF I e el |

(c) TR AU goe o §RI Hgad &Y ¥ ufers
A % T L o GG FHead 8 |

(d) uR-8 faar Yo § et €1

&%

(A) (a) R (o)
(B) (c) M (d)
©) () 3R (d)
(D) (a) 3R (d)

SPACE FOR ROUGH WORK / T® & & fa& wig
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19.

20.

The absence of witnesses make a Muslim
marriage :

(a)
(b)

©)
(d) Void under Shia law

Irregular under Sunni law
Void under Sunni law

Valid under Shia law

Code :

(A) (d) and (a)
(B) (b) and (c)
(©) (9) and (d)

(D) (a) and (c)

Assertion (A) : Tawheed is the essence

-of Islam and the mainspring of its

strength. .

Reason (R) : All other laws, beliefs and
commands of Islam stand firm on this
foundation.

Code :

Both (A) and (R) are true and (R) is
the correct explanation of (A).

(A)

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(C) (A) is false, but (R) is true.

(D) (A) is true, but (R) is false.

19.

20,

TRl % erufefa § qeeli foaems

g FrmrEr sifafsa faeme ?
gt TR 3 foame @
foran FramER 39 B €

foren FremeR = faar @

(d) ¥ (a)

(b) 3R ()
(c) 3R (d)

(A)
(B)
©
(D) (a) 3 ()

e (A) : difeg TETm # W) § 3N

&7 WhY THh! TR |

TIUT (R) : T % 3= gft e, wraramd

SR o R A wE ¥

He:

(A) (A) T (R) T € & 71 (R), (A)

HE A= ®

(A) a1 (R) < w1 § W (R), (A) A
W e T

(A) G ¥, TG (R) ¥4 T

(B)

©)

(D) (A) T ¥, T (R) 39 B

SPACE FOR ROUGH WORK / T% @&md & fod <
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21.

22,

Read Assertion (A) and Reason (R). Find 21.

correct answer using codes given below :

Assertion (A) : “A  written and
registered agreement based on natural
love and affection between near relatives

is unenforceable without consideration”.

Reason (R) :
Section 25 of Indian Contract Act says so”.

“Because first exception to

Code :

(A) Both (A) and (R) are incorrect.
(B) Both (A) and (R) are correct.

(C) (A) is correct, but (R) is incorrect.

(D) (R) is correct, but (A) is incorrect.

“Public policy is very unruly horse, and  22.

when once you get astride it, you never
know where it will carry you.”

Above principle was laid down in :

(A) Fender v. John Mildmary
(B) Richardson v. Mellish
(C) Gherrulal Parakh v. Mahadeodas

(D) Ratanchand Hirachand v. Askar
Nawaz Jung

ARG (A) T HRUT (R) R w%q e
11 e 9 @& W T

SRR (A) : T el & T
=R R 7 W enuifa fafea 9 dSiwa
FIR for fohelt faem & sTyard=ia 2 ¥

WRUT (R) : WRAT ey afufres
YRT-25 1 YUH STYATE o HRU LA H31 T
gl

He
(A) (A) T (R) A T 1
(B) (A) T (R) S wd ¥
(C) (A) W& &, Tg (R) T 2
(D) (R) ¥ T, T (A) Te@ 1

‘e i, T oreia € fade wier ¥ o
9 o719 39 T 9aR g § v e B fag
3TTIeh! el of s !

SR fem e frasr e § e 2

(A) Tt v. S HEeeHd
B) T=wa v. veitg
(C) ToEaT W@ v. HERaRE

(D) GHEE EER v, SR Ta1S 7T

SPACE FOR ROUGH WORK / T% &1d & a3 g
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23, “ Agreements by way of wager are void.” 23.

Above principle is prescribed by Indian
s+ Contract Act, in its Section :

(A) 56

(B) 30
b k@) 51
B BHDY - 32

24. Effect of frustration on a contract is 24.

provided by Indian Contract Act in its
Section :

(A) 73
(B) 65
(©) 56

(D) 37

25. Which of the following statement is 25.

correct ?

*  (A) Every agreement and every set of
‘ agreements forming the
consideration for each other is a

promise.

(B) An agreement enforceable by law

is a contract.

(C) A contract enforceable by law is an

agreement.

(D) Every agreement is a contract.

ved & @R W wIR I e '
Iy fagia &), vIRdE ey sfufEm
Al I % aftfa feran w2

(A) 29
(B) 30
() 31

(D) 32

STEY R ST HI AME H ARG G REL
arfufm & a’ # foan T
(A) 73
(B) 65
(C) 56

(D) 37

T § FF R W T ?

(A) TerE FR 3R AR 1 TEw W
TH-TR % T o= w1 fmion e
7l

(B) [ % G @] R T AR, ST
EaIEd

(©) w%mmwaﬁ%m@m
®

(D) VEH FE T AT Bl T

SPACE FOR ROUGH WORK / T & & for&t stg
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26.

27.

28.

Tort is defined as a civil wrong for which ~ 26.

remedy is an action for :

(A)
(B)
©
(D)

The propounder of the ‘Pigeon - hole’ 27.

Unliquidated damages
Liquidated damages
Damages of all kinds

No damages

theory is :

(A)
(B)
©)
(D)

Tort is a violation of : 28.

(8)
(B)
©)
(D)

What is the minimum number of persons ~ 29.

Winfield
Salmond
Clerk and Lindsell

Austin

Right in personam
Right in rem
Both (A) and (B)

None of the above

required for criminal conspiracy ?

(A)
(B)
©
(D)

One
Two
Five

No minimum requirement

<ié = fafora stomcn & &9 & wfwnfa fean

- T frent R A e
| (A) erFfaEiees il W wRaE e

(B) Tafeses afrl W FiaE s
(C) @t YR & T W I e
(D) @ & | FHEE S

‘dia-for ' fagia = y&aew

(A) forries
(B) WIeHrE

Q) Tk SR faedw

(D) sifET

21 foReent SoeieH § 2
(A) T T A
(B) WEH W

(C) (A) T (B) I

(D) W H g off T

A YA % oy safell &) emavas
AqH e ¥

(A) T

B @

(C)

(D) =AdH T AERTHAT 7ot Bl &

SPACE FOR ROUGH WORK / 1% & & e wrrg
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30.

31.

32.

Arrange the following in order of
sequence in the stages of crime by using
the codes given below :

(a)
(b)
©
(@
Code :

(A) (@) ()
(B) () ()
© ®) @),
D) (© (@)

Commission of crime
Intention to commit crime
Preparation to commit crime

Attempt to commit crime

(c) and (d)
(b) and (a)
(d) and (a)
(b), and (a)

If a man monitors the use by a woman of
the internet, e-mail or any other form of
electronic communication, he commits the
offence of

(A)
(B)
©
(D)

Sexual Harassment
Sexual Assault
Domestic Violence
Stalking

Which of the following is not correct with
regard to the offence of bigamy under
Section 494 of IPC ?

(A) The accused must be contracting the
marriage first time.

First marriage of the accused must
be valid.

The spouse of the first marriage

(B)

©)
must be living.

The accused must have married
again.

30.

31.

32.

frefafad ®1 2 * TEEd ST
0 % IR T =t il

SIUY I ST <
STAY HA T F1Rd

STYY H H AR
SY FA H T

(a)
(b)
(©)
(d)
%
(A) (a), (), (0 (D)
) (d), (), (b) 3R ()
Q) (b), (9), (d) ¥R (a)
D) (), (d), (), W (a)

GIC

ofy 1 Ten frdl afeen & 5 3R,
4T (e-mail) a1 ST TOR & fohet
311 ®Y F ITGF W FERET W@ § A
FoRT TR T ST HIAT § 7

() A wars

(B) I WER
(C) =R fem
(D) feshT

IPC & o 494 ¥ <@q fg-foame & e1auy
¥ oy P S o W EE e 72

g erad & Tee aR faa W
IR

SR 1 Tedll e o € A
BT =T |

stfra 1 Eelt wel st E
=feq |

AR X ST € R W Skt e |

(8)

(B).

©

(D)

SPACE FOR ROUGH WORK / T% & & fod e
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33.

34.

35.

Section 366 B provides that, import into
India of girls under 21 years of age from
foreign country for forced illicit
intercourse with another person shall be
punishable. Here ‘foreign country" means
and includes : |

(A) Country outside India only

(B) Country outside India or State of
Jammu and Kashmir

(C) Outside the State to which state
importation has taken place

(D) Indian States only

In the case of Shankar Kishanrao Khade
v. State of Maharashtra (2013) the

- Supreme Court of India gave guidelines

to:

(A) Prevent the abuse of ‘protective
laws’ by women

(B) Prevent sexual harassment of
women at work place

(C) Prevent child sexual abuse

(D) Prevent custodial violence in jails

Which of the following is not an essential
ingredient of the offence under Section
509 of IPC, relating to modesty of a
woman ?

(A) Intention to insult

(B) By uttering words or gestures etc.
(C) Intention to respect

(D) Intruding upon the privacy

33.

34.

35.

YRT 366 B H Wrae foran o & for 21 o @
HH 3T 1 BT 2t i AR Sl I
H e fordl o1 799 & WY IR Hay
I 3 & fAe o9E 1 o <o
STUUY ®1 TR CRIRA el T ad §
3R g o witAfera &2

(A) oA 9RA % T & <

(B) WRd % W@ % U Al I SR

HIHR T
(C) TF % 98 & TF § A S &l 52

(D) FaA ARAE T

e FUNE G TN TR TF & aF

(2013) H weif== =ramer = form v feem frdar
feng: '

(A) wfeenel SR HIETVMEHS HTT HT
TEIANT W Uk TR

(B) e W wfgenell % 4N warem W
sk @A

(C) BT IF GERIN W Ak A

(D) Sl # feusdt fEan = s o

frafafea & < @1 afecrsl = 92w
HeifYyd IPC st YR 509 & 8d Weh et
el T § 2

(A) IATHH FHA H AR
(B) W % TEIHTG YA Hohd |
(C) 3K vE T A
(D) S o I fed TR W@

SPACE FOR ROUGH WORK / & &8 & ol g
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36.

Match List - I with List - IT under the
“ Industrial Disputes Act, 1947 and give

given below :

 List-1

(a)

(b)

)

@

37.

(Section)

Section 5 (1)
Section 7 (2) (ii)
Section 6 (iii)
Section 7 (3) (v
- Code :

@@ () (9

A @ @ W
(B) () Gv) ()
© @) (@) @)
(D) Gv) () @

correct answer with the help of codes

List - I1
(Provision)

Courts of Enquiry

Disqualifications
for the presiding
officer of Labour
Court

Qualifications of
presiding officer
of Laboulj Court

lBoards of

Conciliation

Workmen’s Compensation Act was

passed in the year
(A) 1921
(B) 1922
(C) 1923
(D) 1924

36.

et foee aifufrm 1947 & SAaid

et - 11 el - 11 3 firemeu o et e
Q wé W e

“{ﬁﬁ‘—l
(&)
(a)%irl'{!_—bs

'_ et - 10
| (Suse)

() e HE T 9

(b) ¥R -7 (2) (i) F¥ AT o ST
ST & Helferd
(c) ¥/ - 6 (i) T AR % AL HI
I | Gt
)5/ -7 () (v) T 3iE Hhferem
§ defyd
Ge:
@@ () (@ (@
Ay @ @ @) (@)
(B) (i) @v) @@ @
© @ @ ) ()
D) Gv) @ O @

(A) 1921 &
(B)
©

(D)

1923 |
1924 ®

37. wUHR afg sttt wid gen ¢ :

1922 ®

‘SPACE FOR ROUGH WORK / % wE & fa e
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38.

39.

40.

41.

Minimum Wages Act, 1948 deals with : 38.

(A) Fixation of wages of the laboures

(B) Revision of minimum wages of the
laboures

(©) (A) and (B) are correct

(D) None of the above are correct

Trade Union Act was passed in the year : 39.

(A) 1924
(B) 1926
(C) 1927
(D) 1947

Strike is a constitutional right. This  40.

statement is

(A) True

(B) False

(C) Partially True

(D) None of the above

The procedure for the amendment of the 41.

Constitution of India is closely resembles
to that of the procedure of amendment
in the following country :

(A) Canada
(B) US.A.
(C) Australia
(D) France

A AN AT, 1948 Heifya ® -
(A) HIQ F A o fAufor |
(B) HSIGY % AT ok [T §

(© (A)w (B)wE &
(D) IR H q HE Te T2 &

sfireh W aiffem & ¥ i
gl

(A) 1924

(B) 1926

() 1927

(D) 1947

gealal Uh Haueh iR ¥ I8 weA

(A) TIT

(B) A ¥

(C) STif¥re T ¥
(D) Wi H 9 HiE T

NRA & Gau 93eA 9 Yefia fam free
w9 ¥ 3 a9 & § 59 T fafate fwd
THFWHT| T HA-W ]2

(A) el
(B) AWET
(C) sifern
(D) i@

SPACE FOR ROUGH WORK / T% &Td & o sg

18

0128/ TFU-LW/ELG-II



42. Legislative council of a state can be
abolished or created by :

(A) Legislative Assembly of the State

concerned.

(B) Parliament by 2/3" majority on the
recommendations of the Chairman
of the Legislative Council of the

State concerned.

(C) Parliament through a simple
Legislation.

(D) President of India on the

recommendation of the Parliament.

43. “Any Law which seeks to implement the
Directive in Art. 39 (b) and 39 (c) shall
not be void in consistency with Art. 14
and Art. 19”. Above principle is in the
Constitution in its Article :

(A) 31 (1)
(B) 31(2
(C) 31A

(D) 31C

42. U9 % faym qfeg &1 TS el S
foper g fohan <1 Haa §72

(A) Heifer T o faum e g

(B) weiftr T F e uRE F e
F HEGd R WEE % 2/3 §gHd 5N |

(C) T T faft % SET § WHE 5N |

(D) GO & Wl W WA g |

43. ‘i off A S STISR 39 (b) © 339 (0)
F frdy B @ BT TR qE AT
149977 19 3 T & 4 TE w1’ S
fagia Hfaam ¥ fRd eg=se ° 872
(A) 31(1)

(B) 31(2)

C) 31A

(D) 31C

SPACE FOR ROUGH WORK / T &rd & fordl sie
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44.

Read the following and choose the correct
answer using the codes given below :

The Constitution of India has ensured

‘independence of Judiciary by :

(@) Ensuring security of tenure of
Judges.

(b) Protecting the salaries.

(c) Entitled to such privileges and
allowances and to such rights in
respect to leave of absence and
pension.

(d) The salaries of the Judges of the
Supreme Court and High Court as
fixed by the Constitution, cannot be
varied or reduced by the Parliament
except during periods of Financial
Emergency.

Code :

(4)  (2), (b) and (q)
(B) () (c) and (d)
(©) (a) and (b)

(D) (@), (®), (d) and (d)

44.

et =t ufed qun 71 e ¥ W& W
iy |

IRd & Hfays § =auifaes #1 @dsd
gﬁﬁmﬁnﬁ%:

(a) TSIl o hTehTeT St TR ) gifvema
& g

(b) TSI % AT T GREN & gRI|
(c) 3T fordremferenrd, sl e srufeerfa

gel 3R Uy ¥ weifa arfusmri =
gife=adr & gr|

(d) wfaud g 9, wEisa <AETEE a9
I AT & SISl & 9ad A fqaE
foa TRt & 9 @ SRR S Gehdt
® 7 & yReda o S uedr ¥ swent
Tafyaaar & g

%he:

(A) (a), (b) 3R (o)

(B) (a), (o) N (d)

©€) (a) &R (b)

D) (@), (), () R (d)

SPACE FOR ROUGH WORK / TF &8 & o stie
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45. Choose the correct answer by using the
codes given below :

Art. 26 of the Constitution of India says
that, every religious denomination shall
have the right :

(a) to establish and maintain
institutions for religious and

charitable purposes.

(b) 'to manage its own affairs in matters

of religions.

(c) to own and acquire movable and

immovable property, and

(d) to administer such property in
accordance with law.

(¢) to establish and not to own
charitable institutions.

Code :

(A) (a), (b) and (9)

(B) (@), (b), (c) and (d)
© (®), (c) (d) and (e)

(D) (@), (9), (d) and (e)

45. T %2 & ST ¥ HE SW g

TRAR T ¥ ST 26 % TN Tl
enftfer T S ¢

(a) ik 3iT T % forg ween senfoa e
T 1 SAUFR BT

(b) ®fHeR et § SR T3 1 T & h
Eicardauif

() = 3R T Wufedl 1 o Tl
Tanfireel o1 SAfERT B |

(@ Fufeqal W FTA & IR

TR &1 SfHR B

() e Teum N 7 e & T
TN O o AR R |

C X

(A) (a), (b) IR ()
(B) (@), (b), () FR(d)
© (), © (@ IR (e)

D) (@), (), (d) IR (e)

SPACE FOR ROUGH WORK / 1% &t & Tt <Te
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46.

Match List - I with List - IT and select the
correct answer using the codes given

below :
List - I

(a) Art. 22 (i)

b) Art. 23 (i)

() Art. 24 (iii)

(d) Art. 25  (iv)

Code :

@@ (b) (9
(A) () (v) (i)
(B) @ @O (@)
(© (@) (@) (iv)
(D) () (i) (i)

List - 11

Freedom of
conscience
and free
profession
practice and
propogation of

religion.

Prohibition of
employment of
children

in factories etc.

Protection against
arbitrary arrest
and detention.

Right against
exploitation

46. -1 % GEI-11 ¥ faam wifse 9o fm

FT ¥ HE W |
Tei-1 -1
(a) oTToB8-22 (i)  iav=H, TdT 90
ST TR e
EEICIREGER)

(b) SBT3 (i) HREH H oA
it W g,

(c) TIBT-24 (iii) Nl fiRwart
3R fee=em | Tran

(d) SIWT-25 (iv) U &% foeg
AP

@ () (© (9
(4) @) @) @ @
(B) @) @ @) ()
© @) @@ @) @
(D) @) @) @ @

SPACE FOR ROUGH WORK / T® &1& & fo stie
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47.

48.

49.

(8)

In which year Counseil d’Etat was
established in France ?

(A) 1701
(B)
(©)

(D)

1749
1799

1850

What is the meaning of ‘nemo in propria
causa judex, esse debet’ 7

Everyone should be made a judge

in his own cause.

B) Anvone should be made a judge in
y juag

a cause.

Someone should be made a judge

©

in a cause

No one should be made a judge in

(D)

his own cause

In which of the following case the court
applied the “principle of necessity” as an
exception to the rule against personal
bias ?

(A) K. Ajit Babu v. Union of India
(B)
(C) State of Tamil Nadu v. S. Thangavel

Tata Cellular v. Union of India

(Dj Ajay D. Panalkar v. Telecom Dept.

47.

48.

49,

g H Counseil d’ Etat s ST Hd T
o ?

(A)
(B)
(C) 1799

1701

1749

(D) 1850

e g Wi ween ST T e
(nemo in propria causa judex, esse debet)
T a1 872

(A) eI AR o IHH T o -
¥ fore s 9 =nfen |

(B) g i Sfert 1 - § ST A
e |

(©) Toreht e o -0 | S FAA
=feq |

(D) fedt ot =afe w1 39&F @9 F
Frl-wror § S 7 S = )

Freferfiaa frg o * fidioe aifw A8’
F1 ST R 3 Fafres ye % faes e
¥ avarg % w9 ¥ fHan?

(A) . 3T 1Y TAH TG 6
(B) 2T HEeR M WRA
(C) dfterrg T =M TH. HEd

(D) & &, TaEt A el faar

SPACE FOR ROUGH WORK / 1% &g & s g
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50.

(Name of Case)

(@)

(b)

)

(d)

51.

“Match List - I (Name of Case) with

List - II (Exclusion of PNJ) and answer
by using the codes below :

List - I List - II
(Exclusion of PNJ)

SP.Guptav. (i) Purely
Union of India administrative
matters
JNU v. (i) Impracticability
B.S. Narwal
Union of India (iii) Legislative action
v. Cynamide
India Ltd.
R. Radhakrishen (iv) Confidentiality
v. Osmania
University
Code :
@ (® () (@
@A) vy @ @) (@
B @& @ @ @)
© @) @) @ @
(D) @) @ @) ()

Which of the following is an exception to
the principles of natural justice ?

(A)
(B)

Where right of the person infringed

Termination of contractual

arrangement

(C) Useful formality theory

(D) Government’s arbitrary policy

decision

50.

(a)

(b)

©)

(d)

51.

-1 1 el 11 1 FHemee aen %2 & s
q T S|

-1 -1
(&g =T ) (PN &1 fder)
R T () R
AT G EMICSIEC R CLR]
ALY TH () TSIl
o1.T™. R
INA O oF (i) foremdt e
TETEE gfea
fafiee
AR TMHEUHE  (iv)  IHF
A ST
farvafaemer
e

@ () (9 (@
(A) @v) @O @) (@)
(B) @ G @) (@)
© (@) (@) G @
(D) @ @ Gv) (i)
= § sF-ur wafas = fagia w1 o
TG § 7
(A) =afH F AfHEwR T Ieersa
(B) SAISIfeeh STIEAYT ] U

(C) SuarTRE Arg=nienar fagia
(D) @R 1 afsierd +ifa foig

SPACE FOR ROUGH WORK / T® &/ & & siig
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52.

53.

54.

Which of the following statements are
correct with regard to nature and scope
of Administrative Law ? Answer by

using codes below :

(@) Administrative law is not an end in
itself but a means to an end.

(b) Administrative law is a branch of
Private Law.

(c) Administrative law is a law in the
lawyer’s sense.

(d) Administrative law includes the
study of existing principles and
development of certain new
principles.

Code :

(&) @, ®) (© and @

(B) (), (b) and (0

(C) (b)and (d)
(D) (a)and (d)

Who said that “Possession is evidence of
ownership” ?

(A)
(B)
©)
(D)

Salmond
Austin
Holland
Dias

In which of the following case, it was held

that idol is a juristic person ?

(A) William v. Williams

(B) Maula Buksh v. Haftz-ud-din

© Nath Mullick v.
Pradyumna Kumar Mullick

Pramatha

Advocate-General v. Yusufali

(D)

52.

53.

54.

fretfofaa § FH-S9 W F97 TIEHS
HE F TF IR FEEA § deifed T
o §7 feg e g @ swgfe

Sfess fordt woen & GuaH o Th
e T '

Qe S AT ST 1 Teh 1@l
2

O A e % w9 W T
HA ¢

ToTER w6 oM fagidl g
s 12 fafem fagidl & faem &
a1 Wit

(@)

(b)

(d)

% :
(A)
(B)
(©)
(D)

e e ¥ fr oot () S
HUEI TS ?

(A) HEHS

(B) e

(C) TS

(D) T

(a), (b), (c) 3 (d)
(a), (b) 3R (c)
(b) 3 (d)

(a) 3R (d)

Frefetaa frd arg & o€ A T T gfe

(Idol) e ==fores e gl 2

() fafeem s fafaa

(B) e a1 S wifthel-33-

(C) T Y Hiewrsw SHH T FAR
Hicer®

(D) TEHhe-SRE M JYHe
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55.

56.

“A precedent is a judicial decision which
The
underlying principle which thus forms its

contains in itself a principle.

authoritative element is often termed the
ratio decidendi. The concrete decision is
binding between the parties to it but it is
the abstract ratio decidendi which alone
has the force of law as regards the world
at large”. Who said ?

(4)
(B)
©)
(D)

Ruport Cross
Salmond

Professor Wambaugh
Cohen

Consider the following and choose the
correct code :

(@)

A right is an inherent attribute of
the human will.

(b) A legal right is a legally protected

interest.

Will is an essential element in law

(©)
and right.

Code :

(A) (a) and (b) are correct and (c) is

incorrect.

(B)

(a) and (c) are correct and (b) is
incorrect.

(b) and (c) are correct and (a) is

(©)

incorrect.

(D) (a), (b) and (c) are correct

55.

56.

"7 gwia s e frofe € W @ |
fagia € o g8 T AT ae w1 ffo
1 | 8 9 79 Regmdeers s s
39 ol ¥ deiftm wifidal @ a9 ¥ fau
e Gt § W 9% T wHI R I
feurmerer 3 ® =t fova & 7o A @
FY Y AR & T FrA A1 21 9% B
hal?

(A) TR FE
(B) dIEHS

(C) YIFER araT®
(D) e

= R foar ST R w@ 52 w1 =
e |

(@) AR, ATE Tt 1 Sfaffed Tor S
7!

fafus sifyesr fafuas dedaa sifusr
TR

g1, fafyr qen iR =1 we sifard
T BB

%<
(A)

(b)

(©)

(a) 3R (b) W&t § IR (c) Tom ¥
(B) (a) 3R () T ¥ IR (b) Tow@ ¥
(©  (b) 3 (c) ¥ § 3R (a) 7o 1

(D) (a), (b) ¥R () W& T
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57. ..Consider the following statements and
.- -give the correct answer by using the codes
-given below :
(@) Taking is the acquisition of
~ possession with consent of the
previous owner.

(b) Delivery is the acquisition of
possession with ‘consent or
co-operation of previous owner.

(c) Possession may be obtained by
operation of law.

Code :

(A) (a) is correct and (b) and (c) are
incorrect.

(B) (a) and (b) are correct and (c) is

’ incorrect.

(C) (b) and (c) are correct and (a) is
incorrect.

(D): (a) and (c) are correct and (b) is
incorrect.

58. Match List-I with List-II and select the
correct answer using the code given
below with respect to theory of corporate
personality :

List-I List-II
(a) Fiction Theory (i) Brinz
(b) Realistic Theory (i) Thering
(c) Bracket Theory (iii) Gierke
(d) Purpose Theory (iv) Savigny
Code :

@ ® (© (@
@) @ 6 @ )
® O G @ @
© @) G 6
O v @) @ 0

57. et ol W foER wifg oK e g 9@
& S g

58.

(a)

{émﬁwa:wawa@
R TR SHAT SRS A S ¢ |

& wifees 1 weAfd STHEl FeA B
iy feeftert fordt asg W 3SR
ST SATRIEYT B € 1

A o TE St oSl HTe i ST Fehell
i

(a) TE & &R (b) 3R (c) Terd €

(a) 3R (b) T ¥ 3R (c) e T

(b) ﬁ?(c)ﬂ%ﬁ%aﬁ'{(a)m %I

(a) 3 (o) T ¥ i (b) e €

Friie SHfFEE % dad 5 gei-1 i Geil-11
Y freen qon f § @ W& SW T

(@)
(b)
(©)
(d)

E

(A)
(B)
©
(D)

-1 TE-11
wou fagia () S
arefaeRar fagia (i) IR
IR FAG] RIED
3ea g (v) wfer

@ () (9 (@
@ @ (v ()
@) @) @) @
@ @ O )
(v) @) @ @
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'59.

Which of the following statement is

correct ?

(4)

(B)

©

(D)

According to Section 6 of I.P.C.,
throughout all the criminal statutes,
every penal provision shall be
subject to the exception contained
in the Common law.

According to Section 7 of I.P.C,,
throughout all LP.C., every penal
provision shall be subject to the
exception contained in the Chapter
entitled “General exceptions”

" contained in LP.C.

According to Section 6 of I.P.C.,
throughout all LP.C,, every penal
provision shall be subject to the
exceptions contained in the Chapter
“General exceptions” contained in
LP.C.

According to Section 6 of Cr.P.C,,
throughout all L.P.C., every penal
provision shall be subject to the
exceptions contained in the Chapter
“General exceptions” contained in
Cr.P.C.

59. Frfafan & $1-w1 o W #?

(4)

(B)

(©

(D)

LP.C. & 910 6 % STIER, ¥&x Tt
MR HIF § I gifesw Taem
AT A H e S19arg 3 ereaei
B e |

LP.C. & 9N 7 % 3faiid, Fas guff
1.P.C. ¥ Y% sife® waym, LP.C. 8
fofea w erueng’! widw et
se H fafed eTuare & anegeiq 8
e

LP.C. &1 ¥ 6 % 3fqila, "ax @t
LP.C. ¥ Y& Tifes oM LP.C. §
fafgd “wm= stuee’’ widw At
e | Tafed ouare & eregefiv B9
=ifgq |

Cr.P.C. &l 9 6 & 37avid, Tz gt
LP.C. ¥, &% gifgsh Yau™, Cr.P.C.
H fafea *‘amr emvare’’ e arelt
S ¥ fafeq ouare & e 2
i |

SPACE FOR ROUGH WORK / T% 18 & o smre

0128/ TFU-LW/ELG-II



60.

61.

62.

Read Assertion (A) and Reason (R).
Using the code given below, find correct
answetr.

Assertion (A) : “Wrongful gain” is the
gain by lawful means of property to
which the person gaining is not legally
entitled.

Reason (R) : Because Section 23 of LP.C.
so provides.

Code :

(A) Both (A) and (R) are correct and (R)
is correct explanation of (A).

Both (A) and (R) are correct, but (K)
is not correct explanation of (A).
(A) is right, but (R) is wrong.

(R) is wrong, but (A) is also wrong.

(B)

©)
(D)

Co-operation by doing one of several acts
constituting an offence is :

(A)
(B)
©)
(D)

not a crime

a crime

an attempt to commit crime
a tort

Which of the following statement is

correct ?

According to Section 41 of 1L.P.C. :

(A) A “general law” is a law applicable
to a general subject.

(B) A “special law” is a law applicable

to a particular object.

(C) A “special law” is a law applicable

to a particular subject.

(D) A “particular law” is a law

applicable to a special subject.

60.

61.

62.

SRR (A) T T (R) 1 Tfeq a1
i e @ W& S gl

afreRem (A) : e =afed g fafa &
s ek WY vt & ey faas fae
ae fafus &9 @ ofuwr & 8, ' Upa
A" A B |

RO (R) : F LP.C. H uri 23 § T
HE TR |

E X
(A) (A) T (R) A 7 § 2R (R), (A) F
e S T

(A) T (R) 1§ € T (R), (A)
I TE A T 8

(A) T &, T (R) T €

(R) F Tr-T19 (A) T B

(B)

©)
(D)

AIY % FE HE A A Rl T HE % 5
AN AT STOY w1 TS S ©, o TE
(A) TR TE

(B) ST

(C) ST HT H TH HIA §

(D) T ATFE §

et eA M HA AR T

LP.C. %! T 41 % 37O :

(A) T “EmE wER e e W
A BT |

B) " fafere wE" o SeR WA
AT

©) "o s fafrse foea W ar]
AT

(D) u“fafere Fr’ fad foma W]
RIS
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63.

64.

65.

Extension of I.P.C. to extra territorial
offences is given in one of the following
Sections of I.P.C. :

(A) Section 2
(B) Section 22
(©) Section 4
(D) Section 23

The words ‘man’ and ‘woman’ are
defined in L.P.C. in its :

(A) Section 8
(B) Section 9
(C) Section 10
(D) Section 11

In which case the Supreme Court
accepted the principle that through the
medium of education, awareness of the
environment and its problems related
should be taught as a compulsory
subject ?

(A) Niyamgiri v. Govt. of Orissa, AIR,
2010, Sc. 678

(B) State of Bihar v. Murad Ali Khan,
AIR, 1989 Sc. 1, 373

(C) M.C. Mehta v. Union of India,
(1991)(2) Sc. 222

(D) M.L. Sud v. Union of India, (1992),
Supp. (2) Scc. 123

63.

64.

65.

TG 3TqUEl & fau LP.C. 1 famr
77 % 9 LP.C. 9 forl o a0 § & TR |,
Rt

(A) YRI-2
(B) €T-22
(C) uNI-4
(D) ®RI-23

7oy’ SR ‘Afeen’ veal Ht afte e A 9
LP.C. %l fof T or1 & &1 =it @2

(A) ¥NI-8 |

(B) ¥RI-9

(C) ¥mI-10

(D) ¥”-11

Hared =ed A g ae ¥ 3u fagia
w@iER foran fop faen & wem |, waierw
TN Ta 39 T[S THEsi 1 Tk Sifard
fors=r = &9 # wern St =nfee ?

(A) TrERRR a9 IS/ W9, AIR, 2010,
Sc. 678

(B) faeR T 9™ WU o7& @M,
AIR, 1989 Sc. 1, 373

(C) TH.H. Hed M WRd €Y, (1991) (2)
Sc. 222

(D) TA.TEA. g 99 9Rd €Y, (1992)
Supp. (2) Scc. 123
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66.

67.

‘When was Vienna convention for.

‘protection of Ozone Layer, adopted ?
(A) 1985
(B) 1988
(C) 2008

(D) 2010

The essence of the precautionary principle
in respect of Environment :

(a) Thatthe authorities must anticipate,
prevent and attack the causes.

(b) That the authorities should not
adopt postponing measures as it has
lack of scientific certainty.

(c) That the-only burden of proof lies
on the polluter or developer.

Choose the correct code :

(A) (a) and (b) are correct and (c) is

incorrect.

(B) (a) and (c) aﬁre‘corr‘e‘ct and (b) is

incorrect.

(C) (b) and (c) are correct and (a) is
incorrect. .

(D) (a), (b) and (c) are correct.

66..

67.

. SIS T % TReTO § Heitud faam e
YU T ?

(A) 1985
(B) 1988
(C) 2008

(D) 2010

effeRe % weie F g fgia R E :

(@) fr TR EEA @, TR S
o, 2% iR T 9

(b) T wiferemil Al TerT Ul Bl TR
ST =ifee St 6 sEd asfes
- fafereraan = S B §

(0) ﬁﬁm W@aﬁﬁr@aﬁmm

TAAR W A B |

@ e |
T (AY (a) @R (b) T § SR (o) o T

B (@) (W E iR () e &)

©) (b) 3R () T ¥ 2R (a) oM T

(D) (a), (b) 3R (c) ¥ ¥1
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68. What is environmental audit ?

(a)

(b)

A check on the accounts of the
companies involved in

environmental pollution.

A check on environmental
pollutants and the measure on

extent of damage.

An idea to check and take
necessary action against erring
industries and official.

Choose the correct code :

(A)

(B)

©)

(D)

(a) is correct and (b) and (c) are
incorrect.

(a) and (b) are correct and (c) is
incorrect.

(a) and (c) are correct and (b) is
incorrect.

(b) and (c) are correct and (a) is
incorrect.

68. THTERUNT Hehayo T 2

(a)

il YUl § IR SufTE &

THE< & 9F HET|

(b) TAERU YS! W A AT T[HHM i
TR W IR 91 a1 FHEH |

(c) <t wrfE eiR stftemEl & faems
FHRARE HH H G|

F 9 Tl SW g :

(A) (a) W ¥ 3R (b) T (c) T T

(B)

(a) 3R (b) W& § 3R (c) 7@ R

(©) (a) 3 (c) T ¥ IR (b) o T

(D) (b) 3R (c) T& ¥ IR (a) 7Tewa ¥
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69. ‘Environmental pollution’ as defined
under Sec. 2(c) of the Environment
- (Protection) Act, 1986 includes :

(a) Any pblluﬁon of air, water, noise.

(b) The presence in the environment of

any environmental pollutant.

(c) --The presence of any solid, liquid and
gaseous substance in the

environment.
Find the correct code :

(A) (a)is correct and (b) and (c) are

incorrect.

(B) (b) is correct and (a) and (c) are
incorrect. -

(C) (c) is correct and (a) and (b) are

incorrect. .

(D) (a), (b) and (c) are incorrect.

70. Fach member in the General Assembly is
permitted to send

representatives.
(A) Five
(B) Seven
(C) Eight

(D) Nine ..

69.

70.

‘e g’ S e wrRierRer (W)
arfafrr, 1986 %1 €1 2(c) 3 SHavid TR
? o wifem 8 :

(a) oM, STeT AT €A 1 hig TG |

(b) —TEtER H el off efeRer YW
sufeafd |

() atew ¥ forelt ot 2, e = fiefa
Terelf oht Surefd |

F< Y TE IT @ A
(A) (a) W& & T (b) 3R (c) o T

(B) (b) Wl & 3R (a) T2 (c) TTeI €|

(©) (o) & ¥ 3R () TN (b) TTeT €|

D) (a), (b) 3R () Tt 7T

ey YO e ® _ HiarER
Y57 I AN Bl T

(C) o3

(D) =
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71.

72.

Assertion (A) : An entity does not
become a State by possessing essential
attributes of Statehood; it becomes so,
when other States recognize it.

Reason (R) : Because it is said by
Constitutive Theory advocated by Hegel,
Oppenheim etc.

. Code :

(A) Both (A) and (R) are true and (R) is

J
the correct explanation of (A).

(B) (A) is true, but (R) is false.
(C) Both (A) and (R) are false.
(D) (A) is false, but (R) is true.

Assertion (A) : The International Court

of Justice may give an advisory opinion

on any ‘Legal Question” at the request of
anybody authorised by, or in accordance
with, the Charter of the U.N., to make
such a request.

Reason (R) : There is no specific provision
in the Charter to deal with such
situations.

Answer with the help of the codes :
Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) (A) is true, but (R) is not true.
(©) (R)is true, but (A) is false.

(D) Both (A) and (R) are false.

71.

72.

3w (A) : T=IE ¥ foT sifed @
WA g B o m () wew Al e
], T T a1 & 976l 377 T 3 Al
LI

/IO (R) : Hifh FHiLIgea fagia &
HiEAH | €T, SR Sefe | UH Fe R

E T :
(A) (A) T (R) T 6 § a1 (R), (A) FT
e A R

(B) (A) ¥ ¥, T (R) 3 ¥ |
(C) (A) TN (R) ST 7w € |
(D) (A) oW &, T (R) ¥ ©|

AMET (A) : AT =g, foredt off
AfeIeha fer/STe & e W ST T,
T & AR fepelt ot * faferes we ' we wrefn
T U STTAT WS/ ForEm € wema B

HROT (R) : 39 TR i R § deifua
= T 3H ThR 1 h1s off e e 2|

T e % IR 9 W S

%
(A) (A) T (R) S 94 § 3R (R), (A) T
& I B

(B) (A) ¥d B, T (R) 319 ¥
(©) (R) ¥ T, W (A) 3 ¥
(D) (A) T (R) ST o1& B 1
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73.

74.

75.

(@)

(b)
(©

A Muslim woman guilty of having illicit
relationship is punishable for :
(A) Zina
_(B)__Jabar
(C©) Hizanat
(D) Zihar

When one of the parties to Hindu
marriage is of unsound mind, the
marriage under the Hindu Marriage Act,
1955 is

(A) Valid
(B) Void
(C) Voidable
(D) Not voidable

Match List-I with List-II using the codes
given below :

List-1 List-II

Ram Narayan Vs. (i) Insanity

Rameswari

(i) Cruelty
(@)
(iv)

Lachman Vs. Meena
Dastane Vs. Dastane Desertion

Mr. X Vs. Hospital Z Venereal

diseases
Code :
(a)
()
(i)
()
(iv)

@
)
0

@
(i

(b)
()

(iv)
(1)

(i)

(9)
(iv)
(1)
(i)
@

(4)
(B)
©)
D)

73.

74.

75."

(b)
(©)

(d)

a1y waiy o <t gEeny wigen 69 €8 @i
RIS Bt B 2

(A) Sf
(B) SRR
(C) Trea
(D) et
feg foame & v w1 © Wl fafaw fewm
13 a1 feg Toamg afufam, 1955 % aid
g faare £l
(A) Ay
(B) A
© YA
(D) Y= 9 T
| get-1 9 -1 @ fres o fre e E
TR AT
-1 qet-11
TR0 S THSR] () 9FTerdH
NELEECRILRCIE! i)  Frim
T ST ST (iii) T
f. X oW S Z (iv) e
ETE
@@ @®) (@ (9
(A) @) @ Gv) (@)
(B) (i) Gv) @) ()
© O @) @ W)
(D) @(v) @) @ ()
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76. Match List-Iwith List-Ilusingthecodes 76, et~ 151 Gt - 11 & frermgq aon ey 2 4

(@)

(b)

©

(d)

77.

given below :
List-1T List - II

Ashok Hura Vs, () Restitution of

‘Rupa Hura conjugal rights
Bipin Chandra (i) Uniform Civil
Vs. Prabhabati = Code =
Sarla Mudugal (iii) - Desertion
Vs. U.OI
T. Sargethq Vs. (iv) Divorce by
State of A.P. " mutual
consent

Code :

@ ®) (© ()
@) O @ @ @
® @) @) @ o
© @ @ @ o
D) G @ @ @

A Muslim marriage is void on the
ground(s) of :

(A) Fosterage

(B) Consanguinity
(C) Affinity

(D). All of the above

(@)

(b)

©

(d)

77.

I ST

-1 L
3T T 9 () éar’r%’% af‘w
wq1 g0 Y YA
fafmsom ) wwE AR
ERIC ] Hfear
RN q&TTe M (i) ' ?qm
3. wlar M (iv) oo wEfd @
LA forae foresg
&< "

@ () (© (@
(A) @ G @) ()
(B) () (@) @) ()
© @ @@ @) @
(D) (v) (@) @ ()
for S/ sarl R el fete = A
SIS ?
(A)  rfrar
(B) HERadl
© g
(D) STt |+t
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78.

79,

80.

The word “mubara’at’ under Muslim law
denotes : -

(A) A form of inchoate divorce:

(B) Unlawful comparision of wife by

= husband with his mother or sister
wor any other woman within the
_degree of prohibited relationship

(C) The act of freeing each other by
mutual consent

(D) Constructive divorce

.-Or’igi'rjl'a‘vlly, under the Hindu Marriage

Act, 1955, divorce was based on :
(A) TFault and Consent Theories
(B) Fault Theory only

(C) Fault and Breakdown Theories

(D) Fault and Mutual Consent Theories

In Gita Hariharan Vs. R.B.I. Case (1998)
the Supreme Court of India held that :

(A) Mother becomes the natural
guardian after the death of father.

(B) Mother can be the natural guardian
even during lifetime of the father.

(C) Mother becomes the natural
guardian after divorce from father
of the child.

(D) Mother can be the natural guardian
only with the consent of father.

78.

79.

80.

WW%M“W’@"WW
(A) eTvfafes (Inchoate) TR 1 Th &Y

(B) 379t W, weq svyen Fifvy Hey %
Sferta e et oft wfgen % g
ufq gR1 IOt Ueh sy W W

o HE
(C) ot wenfar § o ey & T A

(D) TEAIHS AR

fig forae sTfufrTm, 1955 % Teq AT
T ST o :

(A) < iR genfa fagia

(B) ot qw fagia

(© dr e e fagin

(D) <9 o e wewdh fagia

7T BeE@ o ARALIE. T (1998) F,

e e A %8 o

(A) T % 9 W 96 WYrEd: WeE 91
St ¥

(B) a1 & @ gL ot W WvEa: WEw
BRI

(C) == o TOer & FeiTeh B TR HIal Treief:
g o S ¥

(D) % o % wewfa & o
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81.

82.

Under Section 4 (b) of the Hindu Minority
and Guardianship Act, 1956, ‘guardian’
includes :

(a) A Natural Guardian

(b) A Testamentary Guardian-

() A Guardian appointed and
declared by the Court

(d) A Guardian appointed by Caste
Panchayat

Code :

(A) (a), (c) and (b) only
(B) (b), (c) and (d) only -
(O (9) (a) and (d) only

(D) (@), (b), (c) and (d)

The term of the office of the Chairperson
and Members of the NHRC under the
Protection of Human Rights Act, 1993 is :

(A) Five years from the date on which
he enters the office.

(B) Four years from the date on which
he enters the office or until he
attains the age of Seventy years
whichever is earlier.

(C) Three years from the date on which
he enters the office or until he
attains the age of Seventy years
whichever is earlier.

(D) Five years from the date on which
he enters the office or until he
attains the age of Seventy years
whichever is earlier.

81.

82.

fog Ireusies wd TSitamRig stfufem, 1956
I ¥N 4 (b) % sidia ‘meten’ # afmfem
?:

(a) T WYl TeiaA

(b) TH T TSI

(c) T& =amarerd g/ uifym @ s
HISiREl

(d) nfa d=ra g e meiEE

(A) e (a), (c) 7 (b)
(B) e (b), () e (d)
(C) 9 (c), (a) T°M (d)
(D) (a), (b), (c) T (d)

T YRR TR stfufem, 1993 & Siara
NHRC % H&&i T 31498 & %14 & @ :

(A) T fafa § s g o a1

(B) Trgerit fafyr @ St =R a4 o SAuan
709 ST 3T W B ek W off ved
Barel |

(C) gt fafa 9 ot d7 9 o e
70 378 ST Y I hiA T S off 95
BT |

(D) ﬁgﬁﬁfaﬁﬁmqﬁaﬁwmﬂ
70 & Sl Y YT T a% S ot Ted
BT
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83.

84.

85.

The “International convention on the
Rights of Child” was adopted by the
General Assembly on :

(A) 20th August 1989

(B)
(C) 20t October 1989

20th September 1989

(D) 20" November 1989

One of the following dignitaries has been
appointed by the United Nations recently,
to head the fact finding mission to
investigate the alleged killings, rape and
torture by security forces against
Rohingya Muslims in Myanmar :

(A)
(B)
©)

(D) Poornima Advani

Christopher Dominic
Radhika Coomara Swamy

Indira Jaising

Life, liberty and the pursuit of happiness
is a fact of the following :

(A) Bill of Rights of the U.S.

Constitution

American Declaration of

(B)

Independence

Constitution of the USSR dealing
with the rights of soviet people

©)

Preamble to the Constitution of
India

(D)

83.

84.

85.

“ STeTeR SRR TR SRS T e | HRrEHl
a el AT ?

20 3T 1989
20 fagst 1989

20 RIS 1989
20 T 1989

(4)
(B)
©)
(D)

- firererel § w3 g 9 = 5.9 fw
fered) =i, TR ¥ Afgran TaemEl W e
T g fory T STl S o SIetieehr,
e % S SARAT o Faed & Waifea SRt
Ft witg w0 ¥ fog e wRfET fovm & &S
¥ w9 # frge foFn €72 ‘

(A) frewr SHifTs

Tftret FAR wiH

7. vy, e @1 SR foe
Tercre shi STHIGRT SO

difga dm & Afusrl 9 gefud
I TE.TE.HR. 1 HfauH

(D) WA % WA 1 G
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86.

87.

Arrange the Chairpersons of the National

‘Human Rights Commission of India in

chronological order and answer by using
the codes given below :

(a) Justice ].S. Verma

(b) Justice M.N. Venkatachalaiah
(c) Justice Ranganath Misra

(d) Justice A.S. Anand

Code :

(A) (), (), () (2

(B) (0) (b), (@), (d)

©  (®), @), (d),

(D) (d), (9), (b), (a)

Which of the following statements are
correct with regard to private nuisance ?

Answer by using the codes below :
(a) Itis civil wrong.

(b) It may be aborted as a remedy by
the party. '

(c) It affects person’s personal rights.

(d) Action for damages lies for it.
Code :

(A)  (b) and (c)

(B) (a) and ()

(©)  (a), (b) and (c)

(D) (@), (b), (c) and (d)

86.

87.

IR % T AHAy&R & 7emell i
el H Sefeerd HIC o e e &
IR H W& W g

(a) ~rEHfd S.e™. T |
(b) A TA.TA. SepTe
(c) =arrfd e faan

(d) —EEfd T, S

e

(A)  (b), (c), (d), (@)

B) (© () (@), ()

(€  (b), (@), (d), ()

(D) (@), (©), (), @

e ® & i o e st =g & faw 4
TE ¥7 SW Fe % " F G

(a) ¥ TH fofad stoFE T

(b) TRl B GUR % &Y § THHI ﬁw
fopan T =@

(c) F& A o SAfRTTA afﬂwﬁgmﬁa
FIA T

(d) T IEE W TERE o e

(&) (b) T (o)
(B) (2) T ()

© (@), (b) T (0)
(D) (@), (), (© T (d)
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88.

89.

90.

Which of the following is not a consumer
right under the Consumer Protection
Act?

(A) Access to variety of goods and
services at competitive prices

(B) Seek Redressal against unfair trade

prevention

(C) Protection against marketing of
goods and services, which are not
hazardous to life -

(D) Consumer education

On whom the “burden of proof lies” once
the public nuisance is proved ?

(A) Plaintiff
(B) Defendant
(C) Court

(D) Expert

Assertion (A) : As far as possible the
motor accident cases should not be
decided applying the maxim res ipsa
loquitor.

Reason (R) : Above principle was laid
down in Mangilal v. Parasuram.

Code :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) Only (A) is true.

(D) Only (R) is true.

88.

89.

90.

Iyt wRerr Afufem % faia fe |
F 1 ST ATUER T T2

(A) qeicrsh R W aRgel To daed
# fafipra 9% Tg

(B) 3rfed =R ARl % fawy fam
HeH IS

(C) S aget o feum w denedi & fores
GRETOT ST FIfR A B

(D) Susirsrr e

st 2 fag 3w, fag w6 W
g’ fFa WA 2

(A) =&

(B) Wftarmal
(C) g
(D) for=

RIRY (A) : STl T T B A gue,
A 1 B 19 59T diged 1 ST T
T =T |

®WOT (R) : 39 fagia =1 Aifieme s9 M
TG % A1G H SR WA =0 2410

C X

(A) (A) T (R) T & €

(B) (A) T (R) S oTHA ¥

(C) %ot (A) ¥ B

(D) ¥4 (R) T4 B
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91.

92.

‘Which of the following are correctly

matched with regard to ‘Name of
Consumer Court’ with their respective
‘Period of limitation to file Complaint/
Appeal’ ? Answer by using codes below :
(a) Filing of complaint - Two years
in the Consumer
.Forumor-. .
Commissions
(b) Appeal from District - 30 days
Forum to State
Commission
(c) Appeal from State - 60 days
Commission to
National Commission
(d) Appeal from Natlonal - 90 days
Commission to
Supreme Court
Code :
(A)  (a), (b), () and (d)
(B) (b), (0)and (d)
(©)  (c) and (d)
(D) (a) and (b)
Assertion (A) : Nuisance, if continued
unabated is not actionable as a continuing
wrong, SRS
Reason (R): Above prmc1p1e islaid down
in Ramlal v. Mustafabad Oil and' Cotton
Factory.
Code :
(A) Both (A) and (R) are wrong.
(B) Both (A) and (R) are right.
(C) Only (A)i is right.
(D) Only (R) is right.

‘91.

92.

SIS AT o A a9l 3% Wi foraa
RTId Y/ 3qHAGT &1 €91 a9
frefafed § § $H-W 9@ gafea 8?7 &e
I TEEAl ¥ W AT

(a) ST BRH AT SRR - 299
H freREd TS HEr

(b) TN wRE QT S - 301‘3?
B a7 F

(c) o3 M | T - 60 &
STRINT I STde e
(d) T aEm R gRm - 90 feA

e I ITh HE

e

(A)  (a), (b), (c) T (d)
(B) (b), (c) T (d)
© (T (d)

(D) (=a) T (b)

AR (A) : =IHY, Ifc o Uh-+ Had
TEdl @ R 31uge & ®9 § I8 SieR
g T = |

HROT (R) : THAA SHH TEAHEE ST
g Hled FREH & 9% H W fagia
Qftrer fepam T 1

%<

(A) (A) T (R) ST Tora § |

(B) (A)den (R) 3 &t €1

(C) T (A) WE ¥

(D) I (R) T& T
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93.

94.

Which of the following statements arenot ~ 93.

related with the slgnder form of
Defamation ? Answer by using codes
below :

(a) It is visible and permanent

(b) Itis civil wrong in English law

() Itis transient in form

(d) Itis actionable per se

Code :

(A)  (a), (b), () and (d)

(B) (a), (b) and (c)

(©) (a), (b) and (d)

(D) (a) and (d)

Partnership is : 94.

(A) Mutual agency
(B) Corporate entity
(C) Legal person

(D) Asset management company

fr ¥} 39 W FuA aEE F STTEe
@Y Y Hefed T 8?2 Fe F ST SW
g :

(a) € THWH T T B @

(b) ST 9§ 78 T fafae o §
(c) ¥ wET § HHaona § ‘V

(d) T geE I W HLars A ¢

(8 (@) ®), () T (d)
(B) (a), (b) T ()
©) (@) ()7 (d)

(D) (a) W (d)

TR ® :

(A) TREE T
(B) e ufd

©) Tafuw =t

(D) uREmfe yeu® HE
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95.

96.

Assertion (A) : The receipt of share or
payment by a servant or agent as
remuneration makes the receiver a

‘partner.

Reason (R) : Receiving the share or the
remuneration is an implied act to create
partnership.

Code :

(A) Both (A) and (R) are wrong,

(B) Both (A) and (R) are right.

(©) (R) is wrong, but (A) is right.

(D) (R) is right, but (A) is wrong

Find out an item from List - I which
matches with an item from List - IL
Answer using code given below :
List - I List - II
(Topic) (Section of Sales
of Goods Act)
(a) Sale of specific goods (i) 18
in a deliverable state
(b) Property of goods @ 15
passes when intended
to pass

(c) Examination of goods (iii) 20
by the buyer

(d) General principles in (iv) 17
respect of
unascertained goods

Code :

() (d) with ()

(B) (o) with (i)

(€ (b) with (iv)

(D) (a) with (iii)

95.

96.

AR (A) : TRAMHE & €9 H, TR A4
YA St Wi T a1 Tl hl WEIRR ST
SR

ST (R) : IR 7a TRGHE 9
TEER! g 1 T 9 foran g1

%<

(A) (A) T (R) BT Terd ¥ |
(B) (A) T (R) T Wt €1
(C) (R) e &, 9 (A) T T
(D) (R) ¥& T, 9%g (A) e B |

el - 1 & | ! gEIl - 11 % 78 ¥ gfaa
HITTT T F % ITAN § FEr SW T 2

g -1 g - 10
(iteieR ) (=g o
s &t amr)

(a) Toawor srareen At G 18
faftre awgedi <1 fosea

(b) 9 ITE Ted (i) 15
BEATaRa = B
S ERSSICRGRA R
& St &

(c) ohIA % BRI &GN & (i) 20
Sa-g

(@) AffYea aegsli |

(iv) 17

(A) (d)TEm()
(B)  (c) = (if)
(©)  (b) T (iv)
(D) (a) 7T (idi)
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97. Which of the following pairs correctly 97.

matches ?

(A) Sale by auction - Payne v. Cave

(B) Implied - Allenv.
condition of sale Hopkins
by description

(C) Implied - Bowes v. Shand
condition as to
title

(D) Buyer beware - Niblettv.
. Confectioners
Material Co.

98. Prabhu Dayal Modi v. M/S. Euro 98.

Developers Pvt. Ltd. is a case about :
(A) Issuance of blank cheque

(B) Meaning of presentation of cheque
(C) “Maturity”

(D) Liability of agent signing

e O 9 i T it gafed §72

(a) o gr faea - e W
L

(B) AN BRI oA #T-  TeH sM
TARS I Bifeh

(C) Wi & MR W - S

TEAEE I S
(D) shIdl WA - ﬁ&%zaam
FHARERTTY
R CALOI
HEA
7Y T HE s M/S U STAR W5
fofree =1 o 1 faua §2

(A) =i = 1 T
(B) Ik TR 1 Y
(C) wRH=Ed

(D) TEIER A A STWehdl oh1 ST
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99.

100.

Assertion (A) :
guilty for an offence punishable under

“To hold any person

Section 138, it is not necessary to prove
that the dishonoured cheque was issued
for discharge of some legally enforceable
debt or liability.”

Reason (R): Above principle is laid down
in Debobrata Poddar v. State of West
Bengal.

Code :

(A) Both (A) and (R) are right.

(B) Both (A) and (R) are wrong.

(C) (A) is right, but (R) is wrong.

(D) (A) is wrong, but (R) is right.

Assertion (A) : “An outsider is presumed
to know what may or may not have
taken place within the doors that are
closed to him, but not the constitution of
a company.”

Reason (R) : Pacific Coast Coal Mines
Ltd. v. Arbathnot case has laid down
above principle.

Code :

(A) Both (A) and (R) are right.

(B) Both (A) and (R)
(©) (A) is right, but (
(D) (R) is right, but (A

are wrong.
R) is wrong.
)

is wrong.

~-00o0-

99.

100.

JANTHT (A) : H-138 o Fad G4
3y % forw fedt =afeq & S A &
foru smaveres el o ot ®9 @ whrEiass
U1 31T T & femars  fewema s 9%
S fomen T o <Rl fag fohen S

ST (R) : S TG IaTsid WggR s
e T a1 H e fomen e ant

%<

(A) (A) TN (R) ST W& T
(B) (A) e (R) B TTera € |
(©) (A) F& B, T (R) T B
(D) (A) 7l €, g (R) & §)

AR (A) : Torelt aredt =fam & mem
S € T ST St % ofeX i WeA qer |
T ATl ST i ST T HET ok Hfoue
o Ut 319 A BT S Gk |

SHIUT (R) : SWIE f95Iq Tafthe Fie &
Ry faftces s M sduFR ag § enufia
feran T R

e

(A) (A) 3T (R) ST T E

(B) (A) 7N (R) S Tt ¥ |

(C) (A) T &, T (R) Terd B

(D) (R) W&l B, T (A) Tod B

=000~
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i =

| IR TR A T WS ¢ 2 6T | faram 3k : 200
Time for marking answers : 2 Hours Maximum Marks : 200
e

1. 39 S-YRaeT & 100 U9 § - T W9 2 31k BT &1 Wl U T Al oifer ©

2. U % S, & M OMR SH-IE (AHR-3e) R Afera wifsay

3.  THUCHS Hodiohd el {ohal ST |
4. Tt off e F FAFA I A oA TE WERA BIF H A0 afd T

5. OMR St-gfie (SrieR-¥ite) i el e T et = SrmEyE = HY/ o FTES 9 we 9@ @
¥ g = foceR enfe us s fsiaeh Thereey 9 |aE 2 S |

Note :

1.  This Question Booklet contains 100 questions. Each question carries 2 marks. Answer all

questions.
2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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